. 3(15

Compare les nombres en utilisant les signes suivants <, >

3.5 0.3 il

y 3(15

Compare les nombres en utilisant les signes suivants <, >

315 10.....3 ".... M
5.5 1.9 4 .6 15...15 7.9 5416
8. 4+ 2.1 2.1 8. hth 2 1.1
Calcule Calcule :

b+4=_ = 6+6=___  8+4= b+4=_  |6+6=__ |8+4=
5+ 5= 2+7/=__ F+3=__ S+05=__  |2+F=__  |F+3=___
i 35, 34 15

Compare les nombres en utilisant les signes suivants <, >

Compare les nombres en utilisant les signes suivants <, >

3....15 10.....3 ... 3.....05 10.....3 ..M
15.....15 7.....9 5+1......6 15.....15 7.....9 5+1......6
8....4+4 2.1 12.....11 8....4+4 2.1 12.....11
Calcule : Calcule
4+ 4= 6+ 6= 8 + 4= 4+ b= 6+ 6= 8 + 4=
5+ 5= 2+ 7= 7+ 3= 5+ 5= 2+ 7= 7+ 3=




